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» sin X = a/c

» cos X = b/c

* 1g X = a/b=sinx/cos x

» ¢tg x = b/a = cos x/sin x
» sin (w-a) = sin o

- sin (n/2 -0) = cos a
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- cos (n/2 -a) = sin a

» cos (o + 2nk) = cos o
» sin (o + 27k) = sin a
* g (o +7k) = 1g a

» ¢tg (o + k) = ctg a

* Sin? o + cos?a, =1
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* fg o= cosa / sina. , a #nn, nEZ
* tga - ctga =1, a # (7=n)/2, nEZ
* 1+tg%0 = 1/cos?a , o #n (2n+1)/2
* 1+ ctg?a =1/sin%0 , a # a@n
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PopMynbI CIIOXEeHUS:

* sin(x+y) = sin X CoS y + CoS X siny

* sin (X-y) = Sin X CoS 'y - €C0S X Sin'y

* €0S (X+y) = cos X CoS y - sin X siny

* €0S (X-y) = cos X cosy + sSin X siny

* tg(x+y) = (tg x + tgy)/ (1-tg x tgy )
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IYI X
+y #n/2 + 7n

'lg(x - lg I +1 '
° _y) (
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$opMyibI ABOUHOTO aprymeHrTa.
* sin 20, = 2sin o, COS «
» cos 20.=cos® o -sin 20 =2 cos?a -1

= 1-2 sin®a

» tg 20 = (2 tga)/ (1-tg°0)
+ 1+ cos o= 2 cos? a/2

. 1-cosa = 2 sin® a/2

@%3 = (2 19 (a/2))/(1-1g* (a/2))




®-nbl NONOBUHHOTO

AprymeHTa.
» sinza/2 = (1 - cos a)/2
» cos?a/2 = (1 + cosa)/2
» g /2 = sina/(1 + cosa ) = (1-cos a)/sin a
c o m+2nn,n €2
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®-nbl Npeobpa3oBAHUS CYMMBL B MPOU3B.

* sin x +siny = 2 sin ((x+y)/2) cos ((x-y)/2)
* sin X - siny = 2 cos ((x+y)/2) sin
((x-y)/2)

* COS X + CoS y = 2cos (x+y)/2 cos
(x-y)/2

* COS X - COS Y = -2sin (x+y)/2 sin
(x-y)/2



sin (x+y)

Tgx+1gy-=
COS X COS Y
sin (X - y)
Tg X - Tgy =
COS X COS Y
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PopmyribI Npeobp. NPOU3B. B CYMMY
sin x sin'y = %(cos (x-y) - cos (x+y))
cos X cos y = % (cos (X-y)+ cos (x+y))
sin X cos 'y = % (sin (x-y)+ sin (x+y))
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CoOTHOIIL. MeXy b-IMHU

2 tg x/2
Sin X =
1+ +g> x/2
1-tg 2/x
COS X =
1+ +g> x/2
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TpuroHomerpuyecknue ypaBHeHUs

sinx=m: |m| <=1
X = (-1)"arcsin m + ok, ke Z

sin x =1 sinx=0
X =n/2 + 2nk x = nk
sin x = -1

X = -n/2 + 2 nk

cos X =m; |m| <=1
X = + arccos m + 2nk

1 cosx=0
2nk x = n/2+nk




cos x = -1

X = + 27nk

tg x = m

X = arctg m + nk

ctg x = m

X = arcctg m +nk

sin x/2 = 2t/(1+t2); t - 19
205 x4 2 = (1-12)/(1+12)







